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You will need to be able to handle problems involving objects in static equilibrium on a ramp. Consider if there were no push force on the TV box, yet the box remained in static equilibrium on the ramp.  In order to determine  between the ramp surface and the box, you only need to know the maximum angle of incline that does not allow the box to begin to slide.  At the maximum angle of incline, the static friction force is equal in magnitude to the parallel weight component down the ramp.  Determine the literal equation for  in terms of angle ϴ of the ramp incline and any necessary trigonometric identities.  Show your work:
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